WARWICK CASTLE
NUMBER PUZZLE

The sums reveal some secrets about Warwick Castle.

The Trebuchetis...

O9X 2=

metres tall.

The biggest bird in The Falconer’s Quest show is Rosie.
She’s an Andean Condor and weighs...

g + 7 =

kilograms.




WARWICK CASTLE
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Warwick Castle has...

P (e

bechives for our resident bees (that make

our delicious Warwick Castle honey).

Guy's Tower has...

6 - 4 =

sides.
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The Peacock Garden is home to

25 -1 =

peafowl.

There are

7/ X6 =

light bulbs in the

State Dining Room chandelier.




ANSWERS




WARWICK CASTLE
NUMBER PUZZLE

The sums reveal some secrets about Warwick Castle.

The Trebuchetis...

OX 2 =i8

metres tall.

The biggest bird in The Falconer’s Quest show is Rosie.
She’s an Andean Condor and weighs...

8 F AL =15

kilograms.




WARWICK CASTLE
NUMBER PUZZLE

Warwick Castle has...

2 o e

bechives for our resident bees (that make

our delicious Warwick Castle honey).

Guy's Tower has...

G -4 =12

sides.




WARWICK CASTLE
NUMBER PUZZLE

The Peacock Garden is home to

25 -1 =4

peafowl.

There are

7 X6 =42

light bulbs in the

State Dining Room chandelier.




